o(d dxy) (cm)
o(d dz) (cm)

=
<

1071

—=— DQMstep3_TT_CKF
—e— DQMstep3 TT_ default
—— DQMstep3_TT_defaultNEWTepol10

© = : : :

[ o LR R e T Lo IEX X EEEEEEES
1 =~ . . .

= [ : :

= o :

S - ] S T e 2 e
o =X %
o o 1 : <

o)

é [: ] : i : o 4 :
= I + ] g 4+ |F T | = :
© I ] g i +|: © ] + A :
o : T ; HE N : o 14 -+ T4 :
H: | 4 -+ b <+ |: . | 4 .
- A . -4 -»-. . -»- i o -4 .
3 = RN A = - dpe=dpa -F- -+ P g =TS
11 -+ 4 : : j :
+ 14 (4] ]+ : : : : i -4 L 4 T
] : b : 4 - ] :
-»- . 3 . . . .
] : b : : : E'S :
i il T i i it i ) i a

1 o0 1 2 3 ' =) 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


